MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test

u at 14400 s
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MPAS compressional Rossby test

u at 18000 s
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MPAS compressional Rossby test
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MPAS compressional Rossby test

u at 32400 s
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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S compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test
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MPAS compressional Rossby test

2000

[CONTOUR FROM -.175 TO .175 BY .025]

x (km)

1000 1500

500




MPAS compressional Rossby test
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